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Reference: Hollen pp. 10,11,13,20,24,31,40
Fitting darts point towards the ______  _______ and, for certain design effects they may point into the 
__________  ________.
Fitting darts must not point ________ the ____________  __________.
Decorative darts point outside the ____________  _____________ and do no fitting.
The angle must be very __________ so no ________ is created.
The length of a fitting dart is determined by the ______________ from the __________ of origin to the ________  _________ or _________  ____________.
Fitting darts end __________ or ___________ the __________  __________.
All fitting darts must extend to the _____________  __________. This is the _____________ length,
A fitting dart may not extend _________ the _________  ___________. This is the __________ length.
Both ___________ of a dart must be the same ____________.
If one dart has a larger _________ than another, the dart with the _________ Angle should extend _________ into the ___________  __________.
If both fitting darts are of almost __________  ____________ and originate in different seam lines, both darts will end ________ or slightly within the ________  __________.
If all of the fitting is accomplished by two darts in the same _______, both darts extend _________ to the ____________  ____________.
A ________________ dart should extend almost to the __________  ___________ because the large _________ created by this dart __________ better there.
If two fitting darts are in different _____________ are lengthened to the bust point, the darts will take up some of the _________  ___________, and the garment will fit more ______________.
When two darts originate in the same _____________, both darts cannot point to the bust point. The dart _________ may be _______________ from the bust point, or one tip may point to the ____________  ___________ and the other may point into the ________  __________.
Vertical darts originate in __________ seam lines. Make the first crease on the line nearest the ______  __________ or _______  __________. Vertical darts fold __________ the ___________.
Horizontal darts originate in _____________ seam lines. Make the first crease on the ________ line. Horizontal darts _______  __________. Fitting darts may also be _________, and for ____________ purposes can be folded as indicated by the ___________.
The shape of the _______ end of a dart is determined as excess paper is cut from the pattern once the dart is __________.
Length:
All fitting darts of the ________  __________ must extend the _________  __________  from seam line to _________  ____________.
Fitting darts of the ___________  _________ may not extend beyond the _________. This is the __________ dart _____________.
Folding darts:
Fold __________ darts according to the ____________  ____________ to be achieved.
Moving darts:
A single bust fitting darts ends _________ or slightly __________ the bust circle. This is the ____________ length.
A fitting dart may not extend __________ the bust point. This is the __________ length of the dart.
All fitting darts point towards the __________ of the bust. Some exceptions occur in which a fitting dart may point __________ from the bust point, but it may not point __________ the bust________.


The French dart:
When a dart originates _______________ from a seam line, the wide end of the dart will have a long ________ point.
If a dart folds across an _________ seam line, some of the ________  __________ with be cut away as excess.
The shape of the ________  __________ of a dart is determined by the __________ it makes with the __________ from which it originates, that is __________  ____________ or __________.
Dividing darts:
Darts should be designed to _______  __________ in the space they occupy.
On the bodice front, all __________ go ________ but not _________ the bust point.
When a dart is closed accurately, the seam line retains its correct ________, and the ________ of the new __________ equals the _________  ___________  _____________.
Slashes to add __________ must end at a ____________.
Whenever seam allowances are present, the __________must stop at the ____________, and the seam allowance must be ______________ to meet the end of the _____________.
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